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}7 Linearized knot diagam

Solving Sequence

~ 4’11»10~>3—>9—> — 8 —>1—>2—7— (> C1,C5

c c c c 1 c c c
A knot diagra 10 3 ) * 8 1 2 r
Ideals for irreducible component#ﬂ)f Xpar

I = (w2 +u* +.. = 3u—1)

* 1 irreducible components of dim¢ = 0, with total 42 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

LI*=(@uw*24+u*+... —3u—1)

(i) Arc colorings

ag =

ud —3ul +ut+2u%+1
—ud + 4ub — 4u*

—ul? 4+ 8ul7 — 24u1® + 30ul® — Tull — 10u® — 4u” + 6ud + 3ud + 2u>

ayp =
az = u® — 97 + 32u'® — 55u!? + 43ult — 9u® — 4w’ —ud +u

—ul® 4+ 7t — 19012 4+ 24010 — 1308 + 208 — 2ut + 242 + 1
u'® — 8ul® + 2501 — 360! 4+ 19u'0 + 4u® — 2uS — 2u* — 3u?
—u?T 4+ 12u% - —ud - 2u

u?® —13u?" 4+ -+ 5ud +u

(—u27 + 120 4 =yl — 2u>

(
(
(
(
as = (u73u5+2u3+u
(
(
(
(
(

ag =

ae = u? — 130+ Ut +u

(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u39 4+ 72037 — 4u3% — 584u3° + 68u3* 4+ 2804u3? — 516u32 — 8800u>! + 2288130 +
18804129 —6508u?8 — 27664127 412240126 +27920u2° — 15080u2* — 19668123 +11628u?2 +
1136402 — 5344120 — 7448u'? 42056118 + 4732617 — 1372116 — 1840u° + 300w +420u '3 +
42002 — 766! —200u'0 —84u” +160u8 + 761" —112ub — 52u® — 20u* + 244 — 2442 —12u—14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Ce ut? —ut w1
C2,Cs5,C7 e+ 11+ +3u+1
c3, Cy, C10 w2+ —3u—1
Ca u?? = 3utt + .+ 61u+ 39
cs, Ci1 w7t 42790 + 23




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cq 2 — 11yt 4 =3y +1
C2,C5,Cr yP 41yt o — 11y + 1
€3, C9, C10 y*? —39y" +.. —3y+1
C4 y*? — 11y + - — 25951y + 1521
cs, €11 y*? + 29 + ... — 14039y + 529




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

= —1.196810 + 0.2242031

4.01809 + 0.234381

—4.86393 — 0.790931

—1.196810 — 0.2242031

4.01809 — 0.234381

—4.86393 + 0.790931

0.356883 + 0.6920551

3.38201 — 9.136541

—5.22617 4 8.051991

= 0.356883 — 0.6920551

3.38201 +9.136541

—5.22617 — 8.051991

—0.341594 + 0.6851821

3.89441 + 3.005771

—4.12276 — 3.174861

= —0.341594 — 0.6851821

3.89441 — 3.005771

—4.12276 4 3.174861

= —1.233130 + 0.0694571

—2.15848 + 0.536031

—5.34890 + 0.1

= —1.233130 — 0.0694571

—2.15848 — 0.536031

—5.34890 + 0.1

1.217450 + 0.2332161

3.86157 — 6.439911

—5.27816 + 6.024621

1.217450 — 0.2332161

3.86157 + 6.439911

—5.27816 — 6.024621

0.396277 + 0.6343731

—3.48205 — 4.784631

—11.04017 4 7.629201

0.396277 — 0.6343731

—3.48205 + 4.784631

—11.04017 — 7.629201

0.556137 + 0.4938281

2.57048 +5.108421

—7.05988 — 2.205321

= 0.556137 — 0.4938281

2.57048 — 5.108421

—7.05988 + 2.205321

0.454805 + 0.5607401

—3.76676 + 0.884071

—12.38985 — 0.564731

0.454805 — 0.5607401

—3.76676 — 0.884071

—12.38985 4 0.564731

—0.553895 + 0.4559201

3.00179 4 0.902711

—6.25769 — 2.963701

= —0.553895 — 0.4559201

3.00179 — 0.902711

—6.25769 + 2.963701

1.305380 + 0.1454411

—3.32923 — 3.996151

—9.76353 + 7.265601

1.305380 — 0.14544171

—3.32923 + 3.996151

—9.76353 — 7.265601

—0.011445 4 0.6793581

7.60462 + 3.095191

—0.01509 — 2.781901

—0.011445 — 0.6793581

7.60462 — 3.095191

—0.01509 + 2.781901

= —0.361045 + 0.5706271

—0.76961 + 1.724951

—4.78052 — 3.915121

gleie(g|g|g|g ||| |g|g|2 (2|22 |e(g|g|
I

—0.361045 — 0.5706271

—0.76961 — 1.724951

—4.78052 4 3.915121

u= 1.34637

—5.74682

—16.7140

u = 1.44469 + 0.156651

—3.29340 — 3.047571

u = 1.44469 — 0.156651

—3.29340 + 3.047571

u = 1.43643 + 0.221361

—6.53816 — 4.664561

u= 143643 —0.221361

—6.53816 + 4.664561

u= 143871+ 0.261421

—1.81787 — 6.458531

[ev] Ben] Hen] Hen) Nen}




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = 1.43871 —0.261421 —1.81787 4 6.458531 0
u = —0.098085 + 0.5278061 1.00543 + 1.568321 | —1.50314 — 6.198431
uw = —0.098085 — 0.5278061 1.00543 — 1.568321 | —1.50314 4 6.198431
u = —1.44577 + 0.263171 —2.40746 4 12.621501 0
u = —1.44577 — 0.263171 —2.40746 — 12.621501 0
u = —1.46178 + 0.162971 —3.85638 — 2.792541 0
u = —1.46178 — 0.162971 —3.85638 + 2.792541 0
u = —1.45781 4 0.204771 —9.89796 + 1.922471 0
u = —1.45781 — 0.204771 —9.89796 — 1.922471 0
u = —1.45327 + 0.236471 —9.43094 + 7.974411 0
u = —1.45327 — 0.236471 —9.43094 — 7.974411 0
u = —0.330600 —0.781422 —13.7110




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C w2 My -1
C2,C5,C7 u 11t 4+ 3u+1
c3,Cy, C10 w4 —3u—1
4 u'? —3uM + . 4 61u+ 39
cs, C11 u?? + 7ut o+ 2790 + 23




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, Ce y? -1yt 4+ =3y + 1
C2,C5,C7 y*2 A1yt e — 11y + 1
€3, €9, C10 y*? =39yt + . —3y+1
C4 y*? — 11y + - — 25951y + 1521
Cs, C11 y*? 4+ 29y + ... — 14039y + 529




